498 S~4 498

! Uz Ustab ; ’4 i I3 | ,2 Il Imin+max
T. — S
\ \ i mA mA ‘\ mA | mA mA
RT 260/40 LMT 1 340 235 2280 | 15 | 40 | 60 | 80 | 10 = 40
RT 260/80 LMT 1 340 235 = 280 60 80 80 | 90 15 = 80
RT 300/40 LMT 1 370 290 + 335 15 40 60 | 80 10 = 40
RT 300/80 CLMT 1 370 290 = 335 60 80 | 80 | 90 15 = 80
STV 280/40 eur 1| 340 270 = 290 | 15 40 | 60 | 80 10 + 40
STV 280/40 Z  eur 2 302 270 = 290 15 40 60 | 80 | 10 = 40
STV 280/80 eur 1 340 \ 270 + 290 60 80 80 | 90 15 ~ 80
STV 280/80 Z - eur 2 302 270 = 290 60 80 | 80 9 | 15 = 80
STV 280/150 | eur 3| 335 | 270 = 300 | 40 + 150
STV 280/150 Z | eur. 2 | 302 | 270 = 300 | | | 40 = 150
STV 600/200 STV | 4 680 | 550 = 610 | | | : | 50 + 200
1y vide * 4
HUz=420V, I, = 35 mA, I; =40 mA, I3 = 60 mA, I} = 60 mA, Imjn =5 mA
HNUz=420V, I, = 70 mA, I, = 70 mA, [y =90 mA, |, = 100 mA, Imjn = 10 mA
Equivalents
OSW 3806 RFT = STV 280/40 ~ StR 280/80 Z RET = STV 280/80 Z
OSW 3807 RFT = STV 280/40 Z . STV 280/40%) Marc = STV 28040
OSW 3808 RFT = STV 280/80 | STV 280/40 A1)?) GEC = STV 280/40
OSW 3809 RET = STV 280/80 Z STV 280/40 B')?) GEC = STV 280/40
PTT 30012) LMT = STV 280/40 STV 280/80¢) GEC = STV 280/80
PTT 30021) LMT = STV 280/80 STV 280/80 AY)?) GEC = STV 280/80
RT 280/401) LMT = STV 280/40 STV 280/80 B')?) GEC = STV 280/80
RT 280/80') LMT = STV 280/80 STV 280/150 Z/lI STV = STV 280150 Z
StR 280/40 RFT = STV 280/40 STV 600/200/1l1 STV = STV 600/200
StR 280/40 Z RFT = STV 280/40 Z 11 TF 25 Tes = STV 280/40
StR 280/80 RFT = STV 280/80 12 TF 25 Tes = STV 280/80
1 Ay 2 4 A 3 4 A 4
,\ K Ay K As Ay As
EI Ay Ag
K Az
STV280/40 STV280/40Z STV280/150
o g BE &2 . o+210V A
[sTveso/a0 . ___I=
T (Marc/GEC) eV
T ﬁ; o uf == +70V
500V === quF == quF == As| —= -
l A\ =1 T 0 K A
o 2L.8L 7
[J§[J a,a“’ STV600/200
™ -70V
12kS2
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